51. (4444 + 40) + (645 + 25) + (3991 + 26) = ?

(a) 280.4

(b) 290.4

(c) 295.4

(d) 285.4

52. Find out the wrong number in the below mentioned number-series

1 3 10 36 152 760 4632

(a) 3

(b) 36

(c) 4632

(d) 760

53. Find a single discount equivalent to a discount series of 30%, 20% and 10%.

(a) 60%

(b) 49.60%

(c) 49.40%

(d) 40%

54. A train 120 m long, travelling at 90km/h overtakes another train travelling in the same direction at 72km/h and passes it completely in 50 s. Find the length, in meters of the second train

(a) 120 m

(b) 125 m

(c) 130 m

(d) 135 m

55. A two digit number becomes 5/6 of itself when its digits are reversed. The difference of the digits is one. Find the number.

(a) 54

(b) 63

(c) 43

(d) 32

56. In an election between two candidates, a candidate who gets 40% of the total votes polled is defeated by 15000 votes. The number of votes polled by the winning candidate is

(a) 6000

(b) 10000

(c) 22500

(d) 45000

57. A can do a piece of work in 20 days and B can do the same work in 30 days. They work together for 4 days and then, A leaves. How long will B take to complete the remaining work?

(a) 25 days

(b) 20 days

(c) 24 days

(d) 22 days

58. The average age of the boys in the class is twice the number of girls in the class. If the ratio of the boys and the girls in the class of 36 is 5:1, what is the total of the ages of the boys in the class?

(a) 490 yr

(b) 420 yr

(c) 360 yr

(d) 196 yr

59. 7/8 - 7/? + 9/16 = 1

(a) 8

(b) 16

(c) 7

(d) 1

60. A sum was divided among A, Band C. C got double than A, who got double than B. If the difference between the shares of Band C was Rs. 3675, what was the sum?

(a) 4900

(b) 8575

(c) 11025

(d) 7350

61. A shopkeeper charges 44% extra than the cost price, from his customer. If the customer paid Rs. 648 for an item, then what was its cost price?

(a) Rs. 575

(b) Rs. 435

(c) Rs. 450

(d) Rs. 515

62. The average age of a woman and her daughter is 21 yr. Also, ratio of their age is consecutively 5 : 1. What would be the ratio of their age, after 5 yr?

(a) 10:3

(b) 5:2

(c) 4 : 1

(d) 3 : 1

63. How much compounded interest would one get on Rs. 1542 at 4% per annum after 2 yr?

(a) Rs. 126

(b) Rs. 130

(c) Rs. 122

(d) Rs. 115

64. If amount of profit earned on selling a pair of shoes at Rs. 2033 happens to be the amount of loss suffered on selling the same pair at f 1063, then what is the cost price of this pair of shoes?

(a) Rs. 1650

(b) Rs. 1548

(c) Rs. 1532

(d) Rs. Cannot be determined

65. Which of the following has fractions in ascending order?

(a) 5/7, 3/5,9/12

(b) 3/5, 5/7, 9/12

(c) 5/7, 9/12, 3/5

(d) 9/12, 5/7, 3/5

66. If 'P' means '+', 'q’ means 'X', 'T' means '+' and 'V' means '-' then 18 P 12 T 4 Q 8 V 10 = ?

(a) 52

(b) 32

(c) 12

(d) 50

67. In a certain code, 'CONTRIBUTOR' is written as 'RTNOCIROTUB'. How is 'PROHIBITION' written in that code?

(a) NOITIBIHORP

(b) IHORPBITION

(c) ITIONBIHOTP

(d) IHORPBNOITI

68. Q says, 'M and T are my brothers'. Q says, 'K is father of T'. Q says, 'R is brother of my father', How is R related to T' s mother?

(a) Brother

(b) Uncle

(c) Husband

(d) None of these

69. If in a code language, 'BACK' is written as '5914', 'KITE' is written as '4876', then 'BEAT' will be Written as

(a) 5697

(b) 5967

(c) 4697

(d) 5687

70. If 'red' is called 'white', 'white' is called 'black', 'black' is called 'yellow', 'yellow' is called green', 'green' is called 'blue' and 'blue' is called 'indigo', then the colour of 'sunflower' will be

(a) Green

(b) Indigo

(c) Yellow

(d) Blue

Directions (Q. Nos. 71-77): These questions are based on the following six numbers

283,347,518,829, 748 and 827

71. If the first and the second digits of each number are interchanged, which number will be the second lowest?

(a) 827

(b) 829

(c) 518

(d) 748

72. If the second and the third digits of each number are interchanged, which number will be the third highest?

(a) 347

(b) 518

(c) 829

(d) 748

73. If the first and the third digits of each number are interchanged, which number will be the third lowest?

(a) 827

(b) 347

(c) 283

(d) 748

74. If 1 is added to the second digit of each number and 1 is subtracted from the third digit of each number and then if the first and the third digits of each number are interchanged, then which number will be the highest?

(a) 518

(b) 748

(c) 827

(d) 829

75. If the first digit of each number replaces the third digit of that number, third digit replaces the second digit and the second digit replaces the first digit, and the numbers, thus formed, are arranged in the ascending order, then which number will be the third?

(a) 518

(b) 827

(c) 829

(d) 347

76. If the first and the third digits of each number are interchanged and 1 is added to the second digit of each number, then which of the following pairs of numbers will have highest total of their numerical value?

(a) 283 and 518

(b) 347 and 748

(c) 283 and 827

(d) 518 and 829

77. If 283 is written as 328, 347 as 734 and so on, then which of the following two numbers will have least difference between them?

(a) 827 and 347

(b) 283 and 748

(c) 748 and 518

(d) 518 and 829

78. Ashok starts walking from point 'P' and goes 5km to the East. Bharat starts from the same point 'P' and goes 5km to the West. Now, Ashok turns left and Bharat turns right, and both stop after going 5km. What is the distance between their respective stoppage points?

(a) 10km

(b) 15km

(c) 5km

(d) Cannot be determined

Directions (Q. Nos. 79-83) These questions are based on the following arrangements of symbols, letters and numbers

1 % B 7 @ 4 D G 2 1 9 A

K 6 # E 3 ! U C 8 Z $ 5

Please study them carefully and reply the questions.

79. How many symbols are there in the arrangement, each of which is immediately preceded by a number but not immediately followed by a letter?

(a) None

(b) One

(c) Two

(d) Three

80. If all the symbols are removed from the arrangement, then which of the following will be the eight element from the right end?

(a) E

(b) K

(c) I

(d) 6

81. If order of all the elements in the arrangement is reversed, then which of the following will be the fifth element to the left of the eighteenth from the left end?

(a) K

(b) 6

(c) 9

(d) None of these

82. Which of the following is the fourth element to the left of thirteenth from the left end?

(a) 2

(b) E

(c) G

(d) 3

83. Three of the following four are alike in a certain way with regard to their position in the arrangement and so, form a group. Which is the one that does not belong to that group?

(a) 4G@

(b) !U3

(c) 9KI

(d) 74B

84. If football is called cricket, cricket is called basketball, basketball is called badminton, badminton' is called volleyball, volleyball is called hockey and hockey is caned golf, then which of the following is not played with ball?

(a) Volleyball

(b) Basketball

(c) Hockey

(d) Badminton

Directions (Q. Nos. 85 and 86) These questions based on following information

(i) A× B  means  A, is B  s mother .

(ii) A+ B  means  A, is B  s brother .

(iii) A+ B  means  A , is B  s son .

(iv) A- B  means  A, is B s wife .

85. What is the relation of F, with J, in  J - T = K+ F ?

(a) Daughter-in-law

(b) Daughter

(c) Mother-in-law

(d) Cannot be determined

86. What is the relation of R, with D, in  Rx H+ D ?

(a) Mother

(b) Uncle

(c) Wife

(d) Cannot be determined

Directions (Q. Nos. 87-89) These questions are b on following information

(i) P × Q means p, is Q s brother.

(ii) P + Q means p, is Q s sister.

(iii) P + Q means p, is Q s mother.

(iv) P - Q means p, is Q s father.

87. Which of the following means  M, is R s nephew?

(a) M × T + J + R

(b) R × K - M x T

(c) R × K - M

(d) R × K + M × T

88. Which of the following means  D, is T s maternal uncle ?

(a) D × J + T

(b) D × J - T

(c) D + J + T (d) D + J - T

89. Which of the following means R is B s grand daughter?

(a) R + M + K - B

(b) K + M + R - B

(c) B - T + R + D

(d) B - T + R

Directions (Q Nos. 90 94): In each of these question the numbers given in each row follow some rule. Select the missing number as per the rule out of the alternatives given below.

90. 6      11    (25)

      8       6     (16)

    12       5      (?)

(a) 10

(b) 12

(c) 16

(d) 18

91. 51       (11)     61

     64        (30)     32

     35        (?)       43

(a) 25

(b) 37

(c) 32

(d) 27

92. 3      (19)    5

     5       (39)    7

     9       (?)      5

(a) 54

(b) 50

(c) 45

(d) 49

93. (2)    4     14

      (3)    5      2

      (?)    6     32

(a) 1

(b) 2

(c) 3

(d) 4

94. 354      (464)        547

      615       (?)          718

     912       (74)         619

(a) 534

(b) 545

(c) 456

(d) 345

Directions (95-97) In each of the questions four groups of letters are given, of which three are alike in some way and the one is different. Choose the old one out.

95. Choose the odd one out

(a) R E A P

(b) R A R E

(c) T O R E

(d) T E A R

96. Choose the odd one out

(a) S T U T T E R

(b) R E S U R R E C T

(c) C U N N I N G

(d) S U C C E E D

97. Choose the odd one out

(a) K M L

(b) F H G

(c) T V U

(d) P N O

Directions (98-100) There are four words. Three of them are similar in some respects while the one is different. Choose the one which is different.

98. Choose teh one which is different

(a) uranium

(b) plutonium

(c) radium

(d) helium

99. Choose teh one which is different

(a) March

(b) May

(c) August

(d) November

100.Choose teh one which is different

(a) wise

(b) traitor

(c) intelligent

(d) honest
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